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2 (200) X2 X E & (230) 7 E At S NIE: (234) = (2 &&H)
nl 3 3 2 OH jl gl =2} A} = X
2 g Mg, = Ol &FoH Of Ak ot HnZEH A 5 ) =
200
==K = 33,697,708 30,792,227 2,905,481
230
SEXAFS 27,545,583 25,213,383 2,332,200
234
=2 27,409,633 25,109,633 2,300,000
401
AEHI LS 27,409,633 25,109,633 2,300,000

26513996 24333996  2,180,000|401-01 (Al£Hl)
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g ¢d) 38 0& - JIE 20,000,000& = 220,000

OZZ HHl SAHEIIY HY)

20,000,0009 X 14! = 20,000
OEJIS aJtel 422 HEBAH22E SE2A)

300,000,0002 X 14/ = 300,000
O+ HHl HE BHA(+) 2

880,000,000& X 14l = 880,000
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: (200) XH2 X X & & (280)REXUHS NS (284) P52 (S5 E8)
nl St St 2 OH jlg‘ =2t = x
2. g Mg = Ofl &t oK Of] A O Blusz & E D) =
812,000 692,000 120,000 | 401-02 (&elBl)
ONSZED ~ USDHDIE =22 HHUBA 2 32 228
35,000,002 X 1A= 35000
O#20 4De| LB =5 HUBA 228
35,000,000& X 14! = 35,000
OYE AJHI, 22, S, 24 22 HHBM 2212
50,000,002 X 1A= 50,000
238
JIEHR ST 135,050 103,750 32,200
405
A SHIS 135,950 103,750 32,200
135,950 103’750 32’200 405-01 (If&%%%zﬁlgul)
OMRY oT PY(+EAYA 23) 200,008 X 62 = 1200
OZet 28I FY(FTARL 2B) 20,000,002 X 1A= 20,000
ONEF4T +TAUBM ANZLHE YZD D 7,000,000 X 1A= 7,000
OFEI4T A YuwI| ¢ 2,000,002 X 20f= 4,000
260
HIOFS SHIRAES 5,902,000| 5,302,000 600,000




2 (200) K 2E K& & (260)HI IS IR S HIgt: (261) 248 S QI XA (H:&®HA)
— — JE —~ _ _
2. 8. O HE. = O] A oH Of Ak ot Hns2 At = | =
261
AL SO XA 5,902,000 5,302,000 600,000
403
AXNSHEXN201H 5,902,000 5,302,000 600,000
5 902,000 5302,000 600,000 403-02 (2|1 2SSOSR EFAIHI)

300,000,000& X 141 = 300,000
O3=8IXNG AAN BEE=
300,000,000& X 14} = 300,000
800
oyl gl 250,125 276,844 226,719
801
o8l 250,125 276,844 726,719
801
ol gl 250,125 276,844 A26,719

250,125 276,844 £26,719|801-01 (ZEroilbIbI)

ool Z& 250,125,000&- J1&E 276,844,000& = 226,719






